PF. 1: Vyjadfi v centimetrech:

PF. 2: Vyjadfi v metrech:

PF. 1: Vyjadri v centimetrech:

PF. 2: Vyjadfi v metrech:

27 mm=

335cm=

27 mm=

335 cm=

0,25 m= 72 dm=
0,08 m= 96,1 dm =
15 mm= 216 cm=
1,7dm= 18,26 cm=
0,73 m= 1028 mm=
6,1 m= 985 mm=
12 dm= 3456 mm=
152 mm= 8,9 dm=
8,7cm= 123456 mm=
PF. 3
1. méfeni
2. méfeni
3. méfeni
4, méreni
5. méfeni
Aritmeticky
priimér:
1. méfeni
2. méfeni
3. méfeni
4, méreni
5. méfeni
Aritmeticky
priimér
Pr. 4: m dm cm
1,25 km
4,107 km
0,025 m X
687 dm X
12369 cm X
0,004 km
6,3 km
127 dm X
333 cm X

0,25 m= 72 dm=
0,08 m= 96,1 dm =
15 mm= 216 cm=
1,7 dm= 18,26 cm=
0,73 m= 1028 mm=
6,1 m= 985 mm=
12 dm= 3456 mm=
152 mm= 8,9 dm=
8,7cm= 123456 mm=
Pr. 3
1. mérfeni
2. méfeni
3. méfeni
4, méfeni
5. méfeni
Aritmeticky
prameér:
1. méreni
2. méfeni
3. mérfeni
4. méreni
5. méfeni
Aritmeticky
prdmeér
Pr. 4: m dm cm
1,25 km
4,107 km
0,025 m X
687 dm X
12369 cm X
0,004 km
6,3 km
127 dm X
333cm X




